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[A
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2013−09−12  H1:MC2 mode 1a ringdown, f = 644.641 Hz,  Q = 227793.765
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[A
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2013−09−12  H1:MC2 mode 1b ringdown, f = 648.734 Hz,  Q = 223441.7436
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2013−09−12  H1:MC2 mode 1c ringdown, f = 654.758 Hz,  Q = 225393.2642
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2013−09−12  H1:MC2 mode 1d ringdown, f = 661.492 Hz,  Q = 220474.6201
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2013−09−12  H1:MC2 mode 2a ringdown, f = 1289.38 Hz,  Q = 158588.9576
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2013−09−12  H1:MC2 mode 2b ringdown, f = 1297.58 Hz,  Q = 160877.9141
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2013−09−12  H1:MC2 mode 2c ringdown, f = 1309.7 Hz,  Q = 145061.1334
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2013−09−12  H1:MC2 mode 2d ringdown, f = 1323.02 Hz,  Q = 155196.8117
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2013−09−12  H1:MC2 mode 3a ringdown, f = 1934.4 Hz,  Q = 169442.0117
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2013−09−12  H1:MC2 mode 3b ringdown, f = 1946.62 Hz,  Q = 142432.5364
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2013−09−12  H1:MC2 mode 3c ringdown, f = 1964.75 Hz,  Q = 131593.7049
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2013−09−12  H1:MC2 mode 3d ringdown, f = 1984.85 Hz,  Q = 131407.1051

 

 
data
fit



0 5 10 15 20 25 30 35 40
−13

−12

−11

−10

−9

−8

−7

−6

−5

−4

time

he
te

ro
dy

ne
d 

si
gn

al
 s

tr
en

gt
h 

[A
.U

.]

2013−09−12  H1:MC2 mode 4a ringdown, f = 2579.77 Hz,  Q = 1454265.3967
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2013−09−12  H1:MC2 mode 4b ringdown, f = 2596.1 Hz,  Q = 2302393.4224
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2013−09−12  H1:MC2 mode 4c ringdown, f = 2620.29 Hz,  Q = 255698.7597
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2013−09−12  H1:MC2 mode 4d ringdown, f = 2647.04 Hz,  Q = 161984.0682
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